
 

 

B O N N E V I L L E P O W E R A D M I N I S T R A T I O N

Questionnaire on Transmission Load Service and ATC 
Nov. 18, 2015 

Instructions 
Per the discussion held during the November 17, 2015 Transmission Load Service workshop 
and to help inform which alternatives BPA will further explore, please provide preliminary 
feedback on the below questions.   

Please submit responses no later than close of business Friday December 4, 2015 to 
TechForum@BPA.gov.  BPA plans to use your feedback to inform where additional data is 
needed to refine and evaluate options for changes to the Long-Term Firm ATC calculation 
process. 

Questionnaire 
1. Do you agree that BPA should continue to use 1-in-2 NCP load forecasts, for those 

loads BPA forecasts, within Planning ETC studies?  If not, why and what would you 
propose is used instead? 

 
PSE’s response:  Yes, a 1-in-2 NCP load forecasts make sense.  
 

2. Which assumption do you prefer for the modeling of wind resources: 
a. 60% of contract demand, not to exceed 60% of nameplate; 
b. Highest impact, per flowgate, of either 100% of contract demand, capped by 

nameplate, or FCRPS; 
c. Historical peaks, capped by contract demand; or  
d. Other? (Please describe) 

 
PSE’s response:  Assumption d. BPA should consider using the capacity 

factor of each wind plant over a year time frame for their modeling assumption for 
each wind facility. This will help create a more realistic picture of the actual output of 
the facility.  

 
3. Which assumption do you prefer for the modeling of non-wind non-Federal resources: 

a. Contract demand, capped by nameplate; 
b. Historical peaks, capped by contract demand;  
c. Contract demand, capped by nameplate or historical peak, whichever is lower; or 
d. Other? (Please describe) 

 
PSE’s response:  Assumption a.  BPA should use contract demand, capped by 

nameplate.  
 

4. Do you agree that BPA should model more variation in FCRPS output, by encumbering 
ATC for the higher of “stressed” Upper Columbia output, Lower Columbia output, and 
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Lower Snake output individually? 
a. If so, do you believe stressing these groups of projects should be done by 

modeling each group at nameplate output, adjusted nameplate output 
(decreased to reflect expected generation outages), or historical peak output? 

b. If not, why and what would you suggest instead? 
 

PSE’s response:  PSE agrees that, for the planning horizon, BPA should stress 
these groups by modeling each group at historical, seasonal peak output, such that a 
seasonal peak is individually modeled rather than a year-round peak. For the operations 
horizon, BPA should cap the seasonal peaks at the adjusted nameplate output (outage-
informed).  
 

5. To balance the generation to load and export in the ATC base cases, would you prefer 
BPA: 

a. Continue to increase or decrease hydro projects; 
b. Use a merit order logic, to increase the least expensive resources first and 

decrement the most expensive first; 
c. Inc or dec all resources pro rata; or 
d. Other? (Please describe) 

 
PSE’s response:  Assumption b. BPA should use merit order logic, to increase 

the least expensive resources first and decrement the most expensive first. 
 

6. Do you agree that encumbrance of ATC for aggregate regional load growth is 
acceptable or do you think each customers’ individual load growth should be 
represented, knowing that the latter option will likely require automation with a higher 
cost, longer implementation timeline, and only moderately different results in the final 
ATC values? 

 
PSE’s response:  BPA should look at load growth on the county level (aggregate 

various customers within the same county). Counties grow at different rates; aggregating 
the load into a regional level will likely make the overall load growth appear greater than 
it is, thus causing BPA to encumber more ATC then necessary.  

 
7. Do you have an opinion on how an uncertainty margin, beyond that already included in 

TTC calculations, should be calculated?  If so, would you prefer BPA determine such a 
margin as: 

a. A percentage of the flowgates’ TTC; 
b. A percentage of the difference between actual flows and ETC values; 
c. To the extent multiple scenarios are run and the “highest of” isn’t used in ETC 

calculations, the difference between the highest of and the selected scenario; or 
d. Other? (Please describe) 
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PSE’s response:  Assumption d. BPA should exclusively use the NERC MOD-008 
Transmission Reliability Margin to calculate uncertainty margins, in its planning horizon 
as well as operating horizon. BPA indicated during the September 30 Customer Forum 
that they would transition away from AMM to TRM, a standardized methodology, 
providing sufficient parameters for any uncertainty margins to be managed. 
 

8. What data would help you make a more informed selection to any or all of the above 
questions? 
 

 


